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Introduction
The Rel-18 WID [1] for NR positioning contains several enhancements, including:
· Support of NR DL and UL carrier phase positioning for UE-based, UE-assisted, and NG-RAN node assisted positioning
NR carrier phase positioning (NR CPP) has been studied in the FS_NR_pos_enh2 study item by RAN1 with company contributions and outcome of the study being captured in TR 38.859 [2].  Based on Rel-16 and Rel-17 link level simulation assumptions for RSTD and PRS-RSRP, respectively, in [3] and [4], RAN4 has agreed NR CPP link level simulation assumptions for RSCPD in [5] and updated them in [6]. 
In this contribution we list the used parameters according to the updated simulation assumptions and then provide revised simulation results for DL RSCPD measurements, together with the corresponding DL RSCP measurements. It is noted that these results do not contain any RF/BB impairments. However, great potential of this positioning technology in terms of improved positioning accuracy can be seen.
Simulation Assumptions
Simulation assumptions for DL RSCPD captured in [6] are considered. The PRS configurations as listed in Table 1 were used in the simulation study. Note that the repetition factor relates to repetitions in adjacent slots.
	[bookmark: _Ref142659683]Parameter
	Value

	SCS, RB num, Repetition
	SCS (kHz)
	RB num
	Repetition (Note)
	Sample rate (Tc) 

	
	15
	24
	4
	256

	
	
	52
	1
	128

	
	
	104
	1
	64

	
	30
	24
	4
	128

	
	
	48
	1
	64

	
	60, FR1
	24
	4
	64

	
	60, FR2
	24
	4
	64

	
	
	64
	1
	32

	
	
	132
	1
	16

	
	120
	32
	4
	32

	
	
	64
	1
	16

	PRS comb size
	4

	PRS symbol size
	4

	Number of samples
	1

	Es/Iot for three cells (cell 1, cell 2, cell 3), [dB]
	(-6, -13, -13)dB for NSample = 1;  (-3, -6, -6)dB  for NSample = 1. 
(-3, -13, -13)dB for NSample = 1;  (0, -6, -6)dB  for NSample = 1. 

	PRS periodicity
	40 ms


Table 1: PRS configurations used for NR RSCPD study for SCS = 15kHz, 30kHz, 60kHz (FR1 and FR2), and 120 kHz.
As an additional note on the simulation assumptions, we focused on AWGN and two-tap channels and no RF/BB impairments are included. Moreover, for the simulations with the two-tap channel a single UE receive antenna was used, therefore results for the two-tap channel should be considered as preliminary. However, for the next contribution we plan to use 2 UE receive antennas also for the two-tap channel.

Simulation Results
[bookmark: _Hlk127450045]In this section we provide the simulation results for the above listed simulation assumptions. The results are reported for 5-percentile and 95-percentile CDF of the DL RSCPD and DL RSCP errors in degree for given Es/Iot for three cells [5].
AWGN channel
DL RSCPD
The DL RSCPD error in degree for AWGN channel with SCS set to 15kHz, derived from the 5-percentile and 95-percentile of the CDF, for Es/IoT of three cells (-6, -13, -13) dB, (-3, -6, -6) dB, (-3, -13, -13) dB, and (0, -6, -6) dB,  respectively, are listed in Table 2 to Table 5.
	[bookmark: _Ref142661972]SCS (kHz)
	Carrier frequency (GHz)
	PRS BW 
in RB
	Sampling rate 
(Tc)
	Rep
	Number 
of 
samples
	RSCPD (cell-1, cell-2)
(-6, -13) dB
	RSCPD (cell-1, cell-3)
(-6, -13) dB

	
	
	
	
	
	
	5%-tile
	95%-tile
	5%-tile
	95%-tile

	15
	2
	24
	256
	4
	1
	-6.9295
	6.3495
	-6.8691
	6.5551

	
	
	52
	128
	1
	1
	-10.7501
	10.3782
	-9.5727
	10.1098

	
	
	104
	64
	1
	1
	-7.517
	7.6379
	-7.2621
	7.459

	
	4
	24
	256
	4
	1
	-6.5493
	6.883
	-6.7753
	6.6872

	
	
	52
	128
	1
	1
	-10.4405
	10.1618
	-10.1452
	10.3021

	
	
	104
	64
	1
	1
	-7.0983
	7.7247
	-7.3849
	7.5049

	30
	2
	24
	128
	4
	1
	-6.664
	6.4319
	-6.8896
	6.3101

	
	
	48
	64
	1
	1
	-10.0486
	10.2636
	-10.3496
	10.5377

	
	4
	24
	128
	4
	1
	-6.9295
	6.3495
	-6.5976
	6.3496

	
	
	48
	64
	1
	1
	-10.8823
	10.8862
	-11.2272
	11.0691

	60
	2
	24
	64
	4
	1
	-6.6243
	6.7694
	-6.9958
	6.7986

	
	4
	24
	64
	4
	1
	-6.664
	6.4319
	-6.7515
	6.3268

	
	40
	24
	64
	4
	1
	-6.664
	6.4319
	-6.7515
	6.3268

	
	
	64
	32
	1
	1
	-9.4117
	10.33
	-9.7957
	10.4628

	
	
	132
	16
	1
	1
	-6.664
	6.4319
	-6.7515
	6.3268

	120
	2
	32
	32
	4
	1
	-6.6639
	6.1021
	-6.5018
	6.7241

	
	
	64
	16
	1
	1
	-10.2227
	10.4705
	-2.5386
	11.7873

	
	4
	32
	32
	4
	1
	-5.9844
	6.4595
	-6.123
	6.6137

	
	
	64
	16
	1
	1
	-9.362
	10.0318
	-3.5872
	11.0669


[bookmark: _Ref158979222]Table 2: DL RSCPD error for AWGN channel in degree for SCS = 15kHz. Es/Iot (cell-1, cell-2, cell-3) = (-6, -13, -13) dB.
	[bookmark: _Ref142661986]SCS (kHz)
	Carrier frequency (GHz)
	PRS BW 
in RB
	Sampling rate 
(Tc)
	Rep
	Number 
of 
samples
	RSCPD (cell-1, cell-2)
(-3, -6) dB
	RSCPD (cell-1, cell-3)
(-3, -6) dB

	
	
	
	
	
	
	5%-tile
	95%-tile
	5%-tile
	95%-tile

	15
	2
	24
	256
	4
	1
	-3.43
	3.1465
	-3.3991
	3.2851

	
	
	52
	128
	1
	1
	-5.4249
	5.176
	-4.8311
	5.1138

	
	
	104
	64
	1
	1
	-3.785
	3.6766
	-3.6592
	3.7185

	
	4
	24
	256
	4
	1
	-3.3039
	3.3657
	-3.4974
	3.3261

	
	
	52
	128
	1
	1
	-5.3824
	5.0907
	-5.2903
	5.1927

	
	
	104
	64
	1
	1
	-3.5021
	3.9081
	-3.5395
	3.7459

	30
	2
	24
	128
	4
	1
	-3.3571
	3.2634
	-3.4436
	3.1603

	
	
	48
	64
	1
	1
	-4.9102
	5.21
	-5.0967
	5.4025

	
	4
	24
	128
	4
	1
	-3.43
	3.1465
	-3.2591
	3.1655

	
	
	48
	64
	1
	1
	-5.4639
	5.5631
	-5.5513
	5.5624

	60
	2
	24
	64
	4
	1
	-3.3982
	3.3662
	-3.5209
	3.3504

	
	4
	24
	64
	4
	1
	-3.3571
	3.2634
	-3.3858
	3.2271

	
	40
	24
	64
	4
	1
	-3.3571
	3.2634
	-3.3858
	3.2271

	
	
	64
	32
	1
	1
	-4.8857
	5.2973
	-5.0554
	5.3925

	
	
	132
	16
	1
	1
	-3.4347
	3.7117
	-2.6838
	3.7236

	120
	2
	32
	32
	4
	1
	-3.2189
	2.9836
	-3.2777
	3.2793

	
	
	64
	16
	1
	1
	-4.9286
	5.2306
	-2.4039
	5.4489

	
	4
	32
	32
	4
	1
	-3.0452
	3.2109
	-2.9831
	3.3404

	
	
	64
	16
	1
	1
	-4.6866
	5.1082
	-3.3786
	5.3216


[bookmark: _Ref158979226]Table 3. DL RSCPD error for AWGN channel in degree for SCS = 15kHz. Es/Iot (cell-1, cell-2, cell-3) = (-3, -6, -6) dB.
	SCS (kHz)
	Carrier frequency (GHz)
	PRS BW 
in RB
	Sampling rate 
(Tc)
	Rep
	Number 
of 
samples
	RSCPD (cell-1, cell-2)
(-3, -13) dB
	RSCPD (cell-1, cell-3)
(-3, -13) dB

	
	
	
	
	
	
	5%-tile
	95%-tile
	5%-tile
	95%-tile

	15
	2
	24
	256
	4
	1
	-6.5852
	6.2227
	-6.6836
	6.3376

	
	
	52
	128
	1
	1
	-10.3397
	9.7615
	-9.2951
	9.6634

	
	
	104
	64
	1
	1
	-7.0543
	7.2182
	-7.0008
	7.1883

	
	4
	24
	256
	4
	1
	-6.2495
	6.4371
	-6.6812
	6.3118

	
	
	52
	128
	1
	1
	-9.9281
	10.0262
	-9.4784
	9.8648

	
	
	104
	64
	1
	1
	-6.9085
	7.3687
	-7.0375
	7.1288

	30
	2
	24
	128
	4
	1
	-6.3644
	6.2534
	-6.7725
	6.1191

	
	
	48
	64
	1
	1
	-9.6328
	10.1912
	-10.0035
	10.1889

	
	4
	24
	128
	4
	1
	-6.5852
	6.2227
	-6.085
	6.1075

	
	
	48
	64
	1
	1
	-10.2711
	10.3892
	-10.6369
	10.341

	60
	2
	24
	64
	4
	1
	-6.4889
	6.4799
	-6.7991
	6.4683

	
	4
	24
	64
	4
	1
	-6.3644
	6.2534
	-6.5649
	5.9721

	
	40
	24
	64
	4
	1
	-6.3644
	6.2534
	-6.5649
	5.9721

	
	
	64
	32
	1
	1
	-9.1285
	9.7435
	-9.2952
	9.9489

	
	
	132
	16
	1
	1
	-6.4168
	7.0431
	-2.3818
	7.0666

	120
	2
	32
	32
	4
	1
	-6.3998
	5.8797
	-6.1042
	6.411

	
	
	64
	16
	1
	1
	-9.9104
	10.0166
	-1.7349
	11.2142

	
	4
	32
	32
	4
	1
	-5.8562
	6.2439
	-6.0096
	6.3084

	
	
	64
	16
	1
	1
	-9.0117
	9.6249
	-2.7063
	10.3538


[bookmark: _Ref158979224]Table 4: DL RSCPD error for AWGN channel in degree for SCS = 15kHz. Es/Iot (cell-1, cell-2, cell-3) = (-3, -13, -13) dB.
	SCS (kHz)
	Carrier frequency (GHz)
	PRS BW 
in RB
	Sampling rate 
(Tc)
	Rep
	Number 
of 
samples
	RSCPD (cell-1, cell-2)
(0, -6) dB
	RSCPD (cell-1, cell-3)
(0, -6) dB

	
	
	
	
	
	
	5%-tile
	95%-tile
	5%-tile
	95%-tile

	15
	2
	24
	256
	4
	1
	-3.2109
	2.8079
	-3.1338
	3.0123

	
	
	52
	128
	1
	1
	-4.9508
	4.7564
	-4.4007
	4.7364

	
	
	104
	64
	1
	1
	-3.4042
	3.5082
	-3.368
	3.4476

	
	4
	24
	256
	4
	1
	-2.9203
	3.107
	-3.0898
	3.0352

	
	
	52
	128
	1
	1
	-4.8334
	4.773
	-4.7802
	4.7364

	
	
	104
	64
	1
	1
	-3.2526
	3.568
	-3.3492
	3.446

	30
	2
	24
	128
	4
	1
	-2.9933
	2.9431
	-3.2278
	2.9319

	
	
	48
	64
	1
	1
	-4.617
	4.6567
	-4.7295
	4.9297

	
	4
	24
	128
	4
	1
	-3.2109
	2.8079
	-3.0085
	2.9097

	
	
	48
	64
	1
	1
	-4.948
	5.0971
	-5.126
	5.0497

	60
	2
	24
	64
	4
	1
	-3.0398
	3.1283
	-3.1922
	3.0285

	
	4
	24
	64
	4
	1
	-2.9933
	2.9431
	-3.1551
	2.9503

	
	40
	24
	64
	4
	1
	-2.9933
	2.9431
	-3.1551
	2.9503

	
	
	64
	32
	1
	1
	-4.4231
	4.8501
	-4.5321
	4.827

	
	
	132
	16
	1
	1
	-3.1293
	3.3732
	-2.2571
	3.3622

	120
	2
	32
	32
	4
	1
	-3.0486
	2.7093
	-2.9339
	2.9962

	
	
	64
	16
	1
	1
	-4.6134
	4.7202
	-1.791
	5.17

	
	4
	32
	32
	4
	1
	-2.7871
	2.9017
	-2.6995
	2.9962

	
	
	64
	16
	1
	1
	-4.3127
	4.6752
	-2.7066
	4.7386


[bookmark: _Ref158725736]Table 5: DL RSCPD error for AWGN channel in degree for SCS = 15kHz. Es/Iot (cell-1, cell-2, cell-3) = (0, -6, -6) dB.

DL RSCP
The DL RSCP error in degree for AWGN channel with SCS set to 15kHz, derived from the 5-percentile and 95-percentile of the CDF, for Es/IoT of three cells (-6, -13, -13) dB, (-3, -6, -6) dB, (-3, -13, -13) dB, and (0, -6, -6) dB,  respectively, are listed in Table 6 to Table 9.
	SCS (kHz)
	Carrier frequency (GHz)
	PRS BW 
in RB
	Sampling rate 
(Tc)
	Rep
	Number 
of 
samples
	RSCP (cell-1)
-6 dB, 0 μs
	RSCP (cell-2)
-13 dB, 0 μs
	RSCP (cell-3)
-13 dB, 3 μs

	
	
	
	
	
	
	5%-tile
	95%-tile
	5%-tile
	95%-tile
	5%-tile
	95%-tile

	15
	2
	24
	256
	4
	1
	-2.6667
	2.6658
	-6.2551
	6.1742
	-6.1745
	5.9168

	
	
	52
	128
	1
	1
	-4.2691
	4.2702
	-9.4018
	9.6857
	-8.6974
	8.8846

	
	
	104
	64
	1
	1
	-2.8854
	2.9664
	-6.5126
	7.0146
	-6.7411
	6.7466

	
	4
	24
	256
	4
	1
	-2.9339
	2.7548
	-5.7608
	5.8188
	-6.1432
	5.8984

	
	
	52
	128
	1
	1
	-4.1562
	4.3747
	-9.3582
	9.4594
	-9.5305
	9.7699

	
	
	104
	64
	1
	1
	-2.8711
	2.9804
	-6.6479
	6.8092
	-6.8241
	6.7488

	30
	2
	24
	128
	4
	1
	-2.6398
	2.7701
	-6.1181
	5.9664
	-6.272
	6.1811

	
	
	48
	64
	1
	1
	-4.4878
	4.4103
	-9.1952
	9.7644
	-9.5622
	10.0271

	
	4
	24
	128
	4
	1
	-6.9295
	6.3495
	-6.5976
	6.3496
	-6.9295
	6.3495

	
	
	48
	64
	1
	1
	-4.5358
	4.3206
	-9.318
	10.1034
	-9.7193
	9.4497

	60
	2
	24
	64
	4
	1
	-2.7045
	2.8274
	-6.1234
	6.0468
	-6.3802
	6.1936

	
	4
	24
	64
	4
	1
	-2.6398
	2.7701
	-6.1181
	5.9664
	-5.9047
	5.9006

	
	40
	24
	64
	4
	1
	-2.6398
	2.7701
	-6.1181
	5.9664
	-5.9047
	5.9006

	
	
	64
	32
	1
	1
	-4.4258
	3.9858
	-9.1297
	9.2277
	-8.5242
	9.4599

	
	
	132
	16
	1
	1
	-2.9057
	2.973
	-6.3703
	6.6748
	-1.5767
	6.8451

	120
	2
	32
	32
	4
	1
	-2.6122
	2.6115
	-5.9618
	5.8402
	-5.5878
	6.3191

	
	
	64
	16
	1
	1
	-4.4135
	4.0179
	-9.093
	9.262
	-0.6401
	10.1282

	
	4
	32
	32
	4
	1
	-2.4677
	2.4874
	-5.3338
	5.7701
	-5.5165
	5.9383

	
	
	64
	16
	1
	1
	-4.3171
	4.1205
	-9.0184
	9.2927
	-1.5143
	9.5141


[bookmark: _Ref158797750]Table 6: DL RSCP error for AWGN channel in degree for SCS = 15kHz. Es/Iot (cell-1, cell-2, cell-3) = (-6, -13, -13) dB.
	SCS (kHz)
	Carrier frequency (GHz)
	PRS BW 
in RB
	Sampling rate 
(Tc)
	Rep
	Number 
of 
samples
	RSCP (cell-1)
-3 dB, 0 μs
	RSCP (cell-2)
-6 dB, 0 μs
	RSCP (cell-3)
-6 dB, 3 μs

	
	
	
	
	
	
	5%-tile
	95%-tile
	5%-tile
	95%-tile
	5%-tile
	95%-tile

	15
	2
	24
	256
	4
	1
	-1.921
	1.8935
	-2.7478
	2.7167
	-2.8293
	2.651

	
	
	52
	128
	1
	1
	-3.0439
	3.0274
	-4.1926
	4.192
	-3.9496
	4.084

	
	
	104
	64
	1
	1
	-2.0534
	2.1137
	-2.8992
	3.1476
	-3.0137
	3.0356

	
	4
	24
	256
	4
	1
	-2.1001
	1.9352
	-2.5973
	2.6409
	-2.7935
	2.6464

	
	
	52
	128
	1
	1
	-2.9484
	3.0883
	-4.2015
	4.3831
	-4.3818
	4.2956

	
	
	104
	64
	1
	1
	-2.0462
	2.0711
	-2.9325
	3.0063
	-2.9405
	3.0343

	30
	2
	24
	128
	4
	1
	-1.8547
	1.9968
	-2.6733
	2.6833
	-2.84
	2.7528

	
	
	48
	64
	1
	1
	-3.201
	3.1159
	-4.0838
	4.3355
	-4.3124
	4.4146

	
	4
	24
	128
	4
	1
	-1.921
	1.8935
	-2.7478
	2.7167
	-2.6596
	2.6583

	
	
	48
	64
	1
	1
	-3.2275
	3.083
	-4.2345
	4.524
	-4.3011
	4.2564

	60
	2
	24
	64
	4
	1
	-1.9127
	2.0281
	-2.7571
	2.6108
	-2.858
	2.6846

	
	4
	24
	64
	4
	1
	-1.8547
	1.9968
	-2.6733
	2.6833
	-2.6384
	2.6751

	
	40
	24
	64
	4
	1
	-1.8547
	1.9968
	-2.6733
	2.6833
	-2.6384
	2.6751

	
	
	64
	32
	1
	1
	-3.1303
	2.8241
	-4.0102
	4.1331
	-3.9115
	4.2221

	
	
	132
	16
	1
	1
	-2.0569
	2.1166
	-2.8754
	3.0682
	-1.6857
	2.9273

	120
	2
	32
	32
	4
	1
	-1.8463
	1.8714
	-2.7429
	2.6006
	-2.5955
	2.8443

	
	
	64
	16
	1
	1
	-3.1282
	2.8274
	-4.043
	4.1918
	-0.7541
	4.1964

	
	4
	32
	32
	4
	1
	-1.7461
	1.7596
	-2.4354
	2.6371
	-2.5164
	2.7015

	
	
	64
	16
	1
	1
	-3.0781
	2.8965
	-4.0777
	4.1917
	-1.6387
	3.9511


Table 7. DL RSCP error for AWGN channel in degree for SCS = 15kHz. Es/Iot (cell-1, cell-2, cell-3) = (-3, -6, -6) dB.
	SCS (kHz)
	Carrier frequency (GHz)
	PRS BW 
in RB
	Sampling rate 
(Tc)
	Rep
	Number 
of 
samples
	RSCP (cell-1)
-3 dB, 0 μs
	RSCP (cell-2)
-13 dB, 0 μs
	RSCP (cell-3)
-13 dB, 3 μs

	
	
	
	
	
	
	5%-tile
	95%-tile
	5%-tile
	95%-tile
	5%-tile
	95%-tile

	15
	2
	24
	256
	4
	1
	-1.921
	1.8935
	-6.2551
	6.1742
	-6.1745
	5.9168

	
	
	52
	128
	1
	1
	-3.0439
	3.0274
	-9.4018
	9.6857
	-8.6974
	8.8846

	
	
	104
	64
	1
	1
	-2.0534
	2.1137
	-6.5126
	7.0146
	-6.7411
	6.7466

	
	4
	24
	256
	4
	1
	-2.1001
	1.9352
	-5.7608
	5.8188
	-6.1432
	5.8984

	
	
	52
	128
	1
	1
	-2.9484
	3.0883
	-9.3582
	9.4594
	-9.5305
	9.7699

	
	
	104
	64
	1
	1
	-2.0462
	2.0711
	-6.6479
	6.8092
	-6.8241
	6.7488

	30
	2
	24
	128
	4
	1
	-1.8547
	1.9968
	-6.1181
	5.9664
	-6.272
	6.1811

	
	
	48
	64
	1
	1
	-3.201
	3.1159
	-9.1952
	9.7644
	-9.5622
	10.0271

	
	4
	24
	128
	4
	1
	-1.921
	1.8935
	-6.2551
	6.1742
	-5.9229
	6.0331

	
	
	48
	64
	1
	1
	-3.2275
	3.083
	-9.318
	10.1034
	-9.7193
	9.4497

	60
	2
	24
	64
	4
	1
	-1.9127
	2.0281
	-6.1234
	6.0468
	-6.3802
	6.1936

	
	4
	24
	64
	4
	1
	-1.8547
	1.9968
	-6.1181
	5.9664
	-5.9047
	5.9006

	
	40
	24
	64
	4
	1
	-1.8547
	1.9968
	-6.1181
	5.9664
	-5.9047
	5.9006

	
	
	64
	32
	1
	1
	-3.1303
	2.8241
	-9.1297
	9.2277
	-8.5242
	9.4599

	
	
	132
	16
	1
	1
	-2.0569
	2.1166
	-6.3703
	6.6748
	-1.5767
	6.8451

	120
	2
	32
	32
	4
	1
	-1.8463
	1.8714
	-5.9618
	5.8402
	-5.5878
	6.3191

	
	
	64
	16
	1
	1
	-3.1282
	2.8274
	-9.093
	9.262
	-0.6401
	10.1282

	
	4
	32
	32
	4
	1
	-1.7461
	1.7596
	-5.3338
	5.7701
	-5.5165
	5.9383

	
	
	64
	16
	1
	1
	-3.0781
	2.8965
	-9.0184
	9.2927
	-1.5143
	9.5141


Table 8: DL RSCP error for AWGN channel in degree for SCS = 15kHz. Es/Iot (cell-1, cell-2, cell-3) = (-3, -13, -13) dB.
	SCS (kHz)
	Carrier frequency (GHz)
	PRS BW 
in RB
	Sampling rate 
(Tc)
	Rep
	Number 
of 
samples
	RSCP (cell-1)
0 dB, 0 μs
	RSCP (cell-2)
-6 dB, 0 μs
	RSCP (cell-3)
-6 dB, 3 μs

	
	
	
	
	
	
	5%-tile
	95%-tile
	5%-tile
	95%-tile
	5%-tile
	95%-tile

	15
	2
	24
	256
	4
	1
	-1.3526
	1.356
	-2.7478
	2.7167
	-2.8293
	2.651

	
	
	52
	128
	1
	1
	-2.158
	2.1314
	-4.1926
	4.192
	-3.9496
	4.084

	
	
	104
	64
	1
	1
	-1.4459
	1.5015
	-2.8992
	3.1476
	-3.0137
	3.0356

	
	4
	24
	256
	4
	1
	-1.4631
	1.371
	-2.5973
	2.6409
	-2.7935
	2.6464

	
	
	52
	128
	1
	1
	-2.0883
	2.1908
	-4.2015
	4.3831
	-4.3818
	4.2956

	
	
	104
	64
	1
	1
	-1.473
	1.4894
	-2.9325
	3.0063
	-2.9405
	3.0343

	30
	2
	24
	128
	4
	1
	-1.3106
	1.4443
	-2.6733
	2.6833
	-2.84
	2.7528

	
	
	48
	64
	1
	1
	-2.2845
	2.1813
	-4.0838
	4.3355
	-4.3124
	4.4146

	
	4
	24
	128
	4
	1
	-1.3526
	1.356
	-2.7478
	2.7167
	-2.6596
	2.6583

	
	
	48
	64
	1
	1
	-2.2871
	2.1721
	-4.2345
	4.524
	-4.3011
	4.2564

	60
	2
	24
	64
	4
	1
	-1.3586
	1.4233
	-2.7571
	2.6108
	-2.858
	2.6846

	
	4
	24
	64
	4
	1
	-1.3106
	1.4443
	-2.6733
	2.6833
	-2.6384
	2.6751

	
	40
	24
	64
	4
	1
	-1.3106
	1.4443
	-2.6733
	2.6833
	-2.6384
	2.6751

	
	
	64
	32
	1
	1
	-2.2179
	2.0197
	-4.0102
	4.1331
	-3.9115
	4.2221

	
	
	132
	16
	1
	1
	-1.4418
	1.521
	-2.8754
	3.0682
	-1.6857
	2.9273

	120
	2
	32
	32
	4
	1
	-1.2861
	1.3169
	-2.7429
	2.6006
	-2.5955
	2.8443

	
	
	64
	16
	1
	1
	-2.2166
	2.0131
	-4.043
	4.1918
	-0.7541
	4.1964

	
	4
	32
	32
	4
	1
	-1.225
	1.2749
	-2.4354
	2.6371
	-2.5164
	2.7015

	
	
	64
	16
	1
	1
	-2.1573
	2.0452
	-4.0777
	4.1917
	-1.6387
	3.9511


[bookmark: _Ref158797753]Table 9: DL RSCP error for AWGN channel in degree for SCS = 15kHz. Es/Iot (cell-1, cell-2, cell-3) = (0, -6, -6) dB.

Two-tap channel
DL RSCPD
[bookmark: _Hlk159226959]The DL RSCPD error in degree for two-tap channel with SCS set to 15kHz, derived from the 5-percentile and 95-percentile of the CDF, for Es/IoT of three cells (-6, -13, -13) dB, (-3, -6, -6) dB, (-3, -13, -13) dB, and (0, -6, -6) dB, respectively, are listed in Table 10 to Table 13. It is noted these results are to be considered as preliminary since they are derived using 1 UE receive antenna (deviating from the simulation assumptions in [6] where 2 UE receive antennas are indicated).
	[bookmark: _Ref158797793]SCS (kHz)
	Carrier frequency (GHz)
	PRS BW 
in RB
	Sampling rate 
(Tc)
	Rep
	Number 
of 
samples
	RSCPD (cell-1, cell-2)
(-6, -13) dB
	RSCPD (cell-1, cell-3)
(-6, -13) dB

	
	
	
	
	
	
	5%-tile
	95%-tile
	5%-tile
	95%-tile

	15
	2
	24
	256
	4
	1
	-19.1186
	22.907
	-27.1381
	45.9378

	
	
	52
	128
	1
	1
	-50.773
	55.0535
	-59.5446
	76.9358

	
	
	104
	64
	1
	1
	-20.2801
	36.4185
	-35.4387
	58.6672

	
	4
	24
	256
	4
	1
	-19.1866
	22.4811
	-25.6942
	45.9

	
	
	52
	128
	1
	1
	-50.7687
	55.0761
	-59.5596
	76.9402

	
	
	104
	64
	1
	1
	-20.2767
	36.4185
	-35.4387
	58.6672

	30
	2
	24
	128
	4
	1
	-26.8962
	25.0842
	-26.1744
	38.8631

	
	
	48
	64
	1
	1
	-51.6379
	42.9979
	-78.4669
	96.7505

	
	4
	24
	128
	4
	1
	-26.8866
	24.9657
	-26.1503
	38.8983

	
	
	48
	64
	1
	1
	-51.6379
	42.9979
	-78.4669
	96.2431

	60
	2
	24
	64
	4
	1
	-20.4325
	22.0202
	-28.1383
	29.7192

	
	4
	24
	64
	4
	1
	-20.4336
	22.0202
	-28.1383
	29.7192

	
	40
	24
	64
	4
	1
	-20.3595
	22.0063
	-28.1383
	29.7192

	
	
	64
	32
	1
	1
	-54.2997
	66.4184
	-87.6091
	88.745

	
	
	132
	16
	1
	1
	-35.1563
	25.606
	-57.637
	54.0888

	120
	2
	32
	32
	4
	1
	-15.7714
	17.7136
	-22.023
	30.314

	
	
	64
	16
	1
	1
	-51.1752
	41.8067
	-87.1786
	85.6112

	
	4
	32
	32
	4
	1
	-15.8193
	17.5031
	-22.4516
	29.8199

	
	
	64
	16
	1
	1
	-51.171
	41.8067
	-87.1786
	85.6112


Table 10. DL RSCPD error for two-tap channel in degree for SCS = 15kHz. Es/Iot (cell-1, cell-2, cell-3) = (-6, -13, -13) dB.
	SCS (kHz)
	Carrier frequency (GHz)
	PRS BW 
in RB
	Sampling rate 
(Tc)
	Rep
	Number 
of 
samples
	RSCPD (cell-1, cell-2)
(-3, -6) dB
	RSCPD (cell-1, cell-3)
(-3, -6) dB

	
	
	
	
	
	
	5%-tile
	95%-tile
	5%-tile
	95%-tile

	15
	2
	24
	256
	4
	1
	-9.2213
	10.4345
	-12.8116
	13.622

	
	
	52
	128
	1
	1
	-15.7302
	17.2933
	-15.8351
	15.8153

	
	
	104
	64
	1
	1
	-9.2628
	8.8224
	-10.7092
	9.406

	
	4
	24
	256
	4
	1
	-9.2144
	10.4905
	-12.7873
	13.6416

	
	
	52
	128
	1
	1
	-16.0061
	17.2928
	-15.8354
	15.8111

	
	
	104
	64
	1
	1
	-9.2528
	8.8216
	-10.7092
	9.5211

	30
	2
	24
	128
	4
	1
	-11.3545
	10.9857
	-10.657
	10.7485

	
	
	48
	64
	1
	1
	-16.1613
	17.5397
	-16.6705
	19.278

	
	4
	24
	128
	4
	1
	-11.252
	10.9883
	-10.6599
	10.7249

	
	
	48
	64
	1
	1
	-16.1613
	17.5397
	-16.6705
	19.2742

	60
	2
	24
	64
	4
	1
	-8.7773
	9.4486
	-9.4862
	8.2269

	
	4
	24
	64
	4
	1
	-8.7773
	9.4486
	-9.471
	8.2269

	
	40
	24
	64
	4
	1
	-8.7773
	9.4486
	-9.61
	8.1814

	
	
	64
	32
	1
	1
	-13.8475
	16.8359
	-14.8658
	15.7676

	
	
	132
	16
	1
	1
	-9.2581
	9.4795
	-9.9381
	9.4063

	120
	2
	32
	32
	4
	1
	-7.7356
	7.5642
	-7.9645
	7.3332

	
	
	64
	16
	1
	1
	-13.5395
	14.1875
	-14.0252
	15.1414

	
	4
	32
	32
	4
	1
	-7.733
	7.5588
	-7.9645
	7.3798

	
	
	64
	16
	1
	1
	-13.5395
	14.1875
	-14.0252
	15.1414


Table 11. DL RSCPD error for two-tap channel in degree for SCS = 15kHz. Es/Iot (cell-1, cell-2, cell-3) = (-3, -6, -6) dB.
	SCS (kHz)
	Carrier frequency (GHz)
	PRS BW 
in RB
	Sampling rate 
(Tc)
	Rep
	Number 
of 
samples
	RSCPD (cell-1, cell-2)
(-3, -13) dB
	RSCPD (cell-1, cell-3)
(-3, -13) dB

	
	
	
	
	
	
	5%-tile
	95%-tile
	5%-tile
	95%-tile

	15
	2
	24
	256
	4
	1
	-17.6274
	24.409
	-22.7108
	47.0039

	
	
	52
	128
	1
	1
	-40.0868
	56.4135
	-54.2231
	82.0802

	
	
	104
	64
	1
	1
	-18.7818
	27.6657
	-34.7045
	50.9101

	
	4
	24
	256
	4
	1
	-17.6365
	24.3335
	-22.6921
	47.0063

	
	
	52
	128
	1
	1
	-40.0868
	56.4135
	-54.215
	82.0803

	
	
	104
	64
	1
	1
	-18.5953
	27.6903
	-34.7045
	50.9101

	30
	2
	24
	128
	4
	1
	-23.7961
	21.6874
	-25.782
	37.0526

	
	
	48
	64
	1
	1
	-48.036
	41.713
	-79.3176
	91.8228

	
	4
	24
	128
	4
	1
	-23.8204
	21.5678
	-25.782
	37.0526

	
	
	48
	64
	1
	1
	-48.036
	41.713
	-79.3176
	91.1238

	60
	2
	24
	64
	4
	1
	-19.1454
	20.075
	-29.0828
	26.3862

	
	4
	24
	64
	4
	1
	-19.1454
	20.075
	-28.901
	26.3859

	
	40
	24
	64
	4
	1
	-19.1445
	20.2135
	-29.7719
	26.3892

	
	
	64
	32
	1
	1
	-49.0445
	55.6294
	-85.4666
	87.6859

	
	
	132
	16
	1
	1
	-30.3508
	22.3138
	-55.3139
	49.6825

	120
	2
	32
	32
	4
	1
	-14.4164
	15.5726
	-20.639
	25.3424

	
	
	64
	16
	1
	1
	-50.4593
	42.1306
	-86.8111
	87.1571

	
	4
	32
	32
	4
	1
	-14.418
	15.8167
	-20.6383
	27.2133

	
	
	64
	16
	1
	1
	-50.4593
	42.1305
	-86.8111
	87.1571


Table 12. DL RSCPD error for two-tap channel in degree for SCS = 15kHz. Es/Iot (cell-1, cell-2, cell-3) = (-3, -13, -13) dB.
	[bookmark: _Ref158797800]SCS (kHz)
	Carrier frequency (GHz)
	PRS BW 
in RB
	Sampling rate 
(Tc)
	Rep
	Number 
of 
samples
	RSCPD (cell-1, cell-2)
(0, -6) dB
	RSCPD (cell-1, cell-3)
(0, -6) dB

	
	
	
	
	
	
	5%-tile
	95%-tile
	5%-tile
	95%-tile

	15
	2
	24
	256
	4
	1
	-8.6958
	10.2313
	-10.7912
	12.6174

	
	
	52
	128
	1
	1
	-12.7643
	15.4333
	-13.7043
	13.8491

	
	
	104
	64
	1
	1
	-8.293
	7.9893
	-8.9253
	8.7552

	
	4
	24
	256
	4
	1
	-8.7001
	10.2841
	-10.714
	12.6174

	
	
	52
	128
	1
	1
	-12.7333
	15.4396
	-13.7168
	13.8464

	
	
	104
	64
	1
	1
	-8.2857
	7.9841
	-8.9253
	8.7552

	30
	2
	24
	128
	4
	1
	-9.7475
	8.6581
	-9.7569
	9.7262

	
	
	48
	64
	1
	1
	-13.6528
	15.7888
	-13.9038
	16.8513

	
	4
	24
	128
	4
	1
	-9.7488
	8.8849
	-9.7596
	9.7262

	
	
	48
	64
	1
	1
	-13.658
	15.7888
	-13.8999
	16.8812

	60
	2
	24
	64
	4
	1
	-7.7324
	8.5904
	-8.5815
	7.7444

	
	4
	24
	64
	4
	1
	-7.581
	8.5904
	-8.6105
	7.7544

	
	40
	24
	64
	4
	1
	-7.5557
	8.5904
	-8.5815
	7.7444

	
	
	64
	32
	1
	1
	-12.2401
	14.6178
	-13.2846
	14.0124

	
	
	132
	16
	1
	1
	-8.5007
	8.5681
	-8.4706
	8.1559

	120
	2
	32
	32
	4
	1
	-7.039
	7.1643
	-7.1216
	6.5541

	
	
	64
	16
	1
	1
	-12.0236
	12.9459
	-12.881
	13.2667

	
	4
	32
	32
	4
	1
	-7.0391
	7.1643
	-7.1216
	6.5541

	
	
	64
	16
	1
	1
	-12.0216
	12.9459
	-12.881
	13.2667


Table 13. DL RSCPD error for two-tap channel in degree for SCS = 15kHz. Es/Iot (cell-1, cell-2, cell-3) = (0, -6, -6) dB.

DL RSCP
The DL RSCP error in degree for two-tap channel with SCS set to 15kHz, derived from the 5-percentile and 95-percentile of the CDF, for Es/IoT of three cells (-6, -13, -13) dB, (-3, -6, -6) dB, (-3, -13, -13) dB, and (0, -6, -6) dB, respectively, are listed in Table 14 to Table 17. It is noted these results are to be considered as preliminary since they are derived using 1 UE receive antenna (deviating from the simulation assumptions in [6] where 2 UE receive antennas are indicated).
	[bookmark: _Ref158797828]SCS (kHz)
	Carrier frequency (GHz)
	PRS BW 
in RB
	Sampling rate 
(Tc)
	Rep
	Number 
of 
samples
	RSCP (cell-1)
-6 dB, 0 μs
	RSCP (cell-2)
-13 dB, 0 μs
	RSCP (cell-3)
-13 dB, 3 μs

	
	
	
	
	
	
	5%-tile
	95%-tile
	5%-tile
	95%-tile
	5%-tile
	95%-tile

	15
	2
	24
	256
	4
	1
	-83.3134
	80.3118
	-84.3325
	83.6978
	-83.6926
	95.1042

	
	
	52
	128
	1
	1
	-86.0788
	93.2411
	-85.4821
	97.1709
	-87.7483
	106.0892

	
	
	104
	64
	1
	1
	-87.06
	92.6728
	-88.3761
	99.4904
	-89.2993
	97.9327

	
	4
	24
	256
	4
	1
	-83.4657
	79.5938
	-84.6747
	83.6978
	-83.3003
	95.1042

	
	
	52
	128
	1
	1
	-86.141
	92.9867
	-85.4821
	97.1709
	-87.7618
	106.0891

	
	
	104
	64
	1
	1
	-87.06
	92.6725
	-88.3761
	99.4904
	-89.2993
	97.9327

	30
	2
	24
	128
	4
	1
	-42.5051
	88.9661
	-38.6984
	81.2945
	-41.5831
	91.5791

	
	
	48
	64
	1
	1
	-35.0923
	90.0713
	-47.4891
	98.4806
	-78.8636
	115.3922

	
	4
	24
	128
	4
	1
	-42.5051
	88.9739
	-38.7124
	81.151
	-41.5831
	91.5791

	
	
	48
	64
	1
	1
	-35.0923
	90.0319
	-47.4891
	98.453
	-78.8636
	115.3922

	60
	2
	24
	64
	4
	1
	-46.5371
	94.2246
	-50.4784
	92.8137
	-58.4812
	100.5354

	
	4
	24
	64
	4
	1
	-46.5371
	94.2263
	-50.4784
	92.8137
	-58.4798
	100.6261

	
	40
	24
	64
	4
	1
	-46.5371
	94.228
	-50.3081
	93.067
	-58.4812
	100.5354

	
	
	64
	32
	1
	1
	-43.9526
	92.6071
	-53.1939
	103.6174
	-82.8536
	117.2895

	
	
	132
	16
	1
	1
	-49.2042
	91.1929
	-52.2269
	101.0544
	-66.4791
	106.1165

	120
	2
	32
	32
	4
	1
	-51.9461
	90.1638
	-52.3906
	92.0823
	-60.5719
	93.8773

	
	
	64
	16
	1
	1
	-48.6882
	92.8896
	-62.6854
	94.0498
	-80.4165
	114.6625

	
	4
	32
	32
	4
	1
	-52.0302
	91.1628
	-52.3906
	92.0823
	-60.5719
	93.8773

	
	
	64
	16
	1
	1
	-48.6882
	92.8896
	-62.6824
	94.0432
	-80.4165
	114.6625


Table 14: DL RSCP error for two-tap channel in degree for SCS = 15kHz. Es/Iot (cell-1, cell-2, cell-3) = (-6, -13, -13) dB.
	SCS (kHz)
	Carrier frequency (GHz)
	PRS BW 
in RB
	Sampling rate 
(Tc)
	Rep
	Number 
of 
samples
	RSCP (cell-1)
-3 dB, 0 μs
	RSCP (cell-2)
-6 dB, 0 μs
	RSCP (cell-3)
-6 dB, 3 μs

	
	
	
	
	
	
	5%-tile
	95%-tile
	5%-tile
	95%-tile
	5%-tile
	95%-tile

	15
	2
	24
	256
	4
	1
	-83.0543
	73.4367
	-82.887
	72.5827
	-85.4465
	78.6139

	
	
	52
	128
	1
	1
	-86.7897
	89.9234
	-84.261
	88.9335
	-86.8976
	88.8109

	
	
	104
	64
	1
	1
	-87.4756
	92.3456
	-88.7985
	90.5652
	-88.8116
	91.601

	
	4
	24
	256
	4
	1
	-83.0543
	73.4367
	-82.887
	72.5827
	-85.4465
	78.6139

	
	
	52
	128
	1
	1
	-86.7897
	89.9234
	-84.261
	88.9335
	-86.8712
	88.8085

	
	
	104
	64
	1
	1
	-87.4756
	92.3721
	-88.9153
	90.5647
	-88.8284
	91.8143

	30
	2
	24
	128
	4
	1
	-41.8395
	86.1352
	-40.6387
	85.0732
	-40.1693
	87.5786

	
	
	48
	64
	1
	1
	-33.2853
	90.1439
	-34.998
	95.043
	-42.7897
	101.508

	
	4
	24
	128
	4
	1
	-41.8395
	86.1229
	-40.6387
	85.0732
	-40.1693
	87.5786

	
	
	48
	64
	1
	1
	-33.2853
	90.1439
	-34.998
	95.043
	-42.7897
	101.508

	60
	2
	24
	64
	4
	1
	-47.262
	95.935
	-45.0751
	93.7813
	-48.8054
	97.5841

	
	4
	24
	64
	4
	1
	-47.262
	95.935
	-45.0751
	93.7813
	-48.8054
	97.5841

	
	40
	24
	64
	4
	1
	-47.262
	95.935
	-45.0751
	93.7813
	-48.8054
	97.5841

	
	
	64
	32
	1
	1
	-45.835
	93.0437
	-45.2851
	97.0709
	-48.9043
	94.3873

	
	
	132
	16
	1
	1
	-48.6014
	92.6265
	-45.2668
	94.6595
	-48.3772
	95.1664

	120
	2
	32
	32
	4
	1
	-50.3105
	91.4829
	-49.6617
	87.4133
	-48.0351
	90.743

	
	
	64
	16
	1
	1
	-48.6149
	91.1915
	-51.349
	87.8262
	-52.6663
	90.4685

	
	4
	32
	32
	4
	1
	-50.2273
	91.2636
	-49.6617
	87.4133
	-48.0351
	90.743

	
	
	64
	16
	1
	1
	-48.6149
	91.1915
	-51.349
	87.8262
	-52.6663
	90.4546


Table 15. DL RSCP error for two-tap channel in degree for SCS = 15kHz. Es/Iot (cell-1, cell-2, cell-3) = (-3, -6, -6) dB.
	SCS (kHz)
	Carrier frequency (GHz)
	PRS BW 
in RB
	Sampling rate 
(Tc)
	Rep
	Number 
of 
samples
	RSCP (cell-1)
-3 dB, 0 μs
	RSCP (cell-2)
-13 dB, 0 μs
	RSCP (cell-3)
-13 dB, 3 μs

	
	
	
	
	
	
	5%-tile
	95%-tile
	5%-tile
	95%-tile
	5%-tile
	95%-tile

	15
	2
	24
	256
	4
	1
	-83.0543
	73.4367
	-84.3325
	83.6978
	-83.6926
	95.1042

	
	
	52
	128
	1
	1
	-86.7897
	89.9234
	-85.4821
	97.1709
	-87.7483
	106.0892

	
	
	104
	64
	1
	1
	-87.4756
	92.3456
	-88.3761
	99.4904
	-89.2993
	97.9327

	
	4
	24
	256
	4
	1
	-83.0543
	73.4367
	-84.6747
	83.6978
	-83.3003
	95.1042

	
	
	52
	128
	1
	1
	-86.7897
	89.9234
	-85.4821
	97.1709
	-87.7618
	106.0891

	
	
	104
	64
	1
	1
	-87.4756
	92.3721
	-88.3761
	99.4904
	-89.2993
	97.9327

	30
	2
	24
	128
	4
	1
	-41.8395
	86.1352
	-38.6984
	81.2945
	-41.5831
	91.5791

	
	
	48
	64
	1
	1
	-33.2853
	90.1439
	-47.4891
	98.4806
	-78.8636
	115.3922

	
	4
	24
	128
	4
	1
	-41.8395
	86.1229
	-38.7124
	81.151
	-41.5831
	91.5791

	
	
	48
	64
	1
	1
	-33.2853
	90.1439
	-47.4891
	98.453
	-78.8636
	115.3922

	60
	2
	24
	64
	4
	1
	-47.262
	95.935
	-50.4784
	92.8137
	-58.4812
	100.5354

	
	4
	24
	64
	4
	1
	-47.262
	95.935
	-50.4784
	92.8137
	-58.4798
	100.6261

	
	40
	24
	64
	4
	1
	-47.262
	95.935
	-50.3081
	93.067
	-58.4812
	100.5354

	
	
	64
	32
	1
	1
	-45.835
	93.0437
	-53.1939
	103.6174
	-82.8536
	117.2895

	
	
	132
	16
	1
	1
	-48.6014
	92.6265
	-52.2269
	101.0544
	-66.4791
	106.1165

	120
	2
	32
	32
	4
	1
	-50.3105
	91.4829
	-52.3906
	92.0823
	-60.5719
	93.8773

	
	
	64
	16
	1
	1
	-48.6149
	91.1915
	-62.6854
	94.0498
	-80.4165
	114.6625

	
	4
	32
	32
	4
	1
	-50.2273
	91.2636
	-52.3906
	92.0823
	-60.5719
	93.8773

	
	
	64
	16
	1
	1
	-48.6149
	91.1915
	-62.6824
	94.0432
	-80.4165
	114.6625


Table 16: DL RSCP error for two-tap channel in degree for SCS = 15kHz. Es/Iot (cell-1, cell-2, cell-3) = (-3, -13, -13) dB.
	[bookmark: _Ref158797837]SCS (kHz)
	Carrier frequency (GHz)
	PRS BW 
in RB
	Sampling rate 
(Tc)
	Rep
	Number 
of 
samples
	RSCP (cell-1)
0 dB, 0 μs
	RSCP (cell-2)
-6 dB, 0 μs
	RSCP (cell-3)
-6 dB, 3 μs

	
	
	
	
	
	
	5%-tile
	95%-tile
	5%-tile
	95%-tile
	5%-tile
	95%-tile

	15
	2
	24
	256
	4
	1
	-82.8905
	72.1397
	-82.887
	72.5827
	-85.4465
	78.6139

	
	
	52
	128
	1
	1
	-87.4314
	90.5053
	-84.261
	88.9335
	-86.8976
	88.8109

	
	
	104
	64
	1
	1
	-88.0224
	91.9566
	-88.7985
	90.5652
	-88.8116
	91.601

	
	4
	24
	256
	4
	1
	-82.9493
	72.1397
	-82.887
	72.5827
	-85.4465
	78.6139

	
	
	52
	128
	1
	1
	-87.4314
	90.5053
	-84.261
	88.9335
	-86.8712
	88.8085

	
	
	104
	64
	1
	1
	-88.0224
	91.9566
	-88.9153
	90.5647
	-88.8284
	91.8143

	30
	2
	24
	128
	4
	1
	-41.3538
	85.9036
	-40.6387
	85.0732
	-40.1693
	87.5786

	
	
	48
	64
	1
	1
	-37.6348
	92.1988
	-34.998
	95.043
	-42.7897
	101.508

	
	4
	24
	128
	4
	1
	-41.3801
	85.9036
	-40.6387
	85.0732
	-40.1693
	87.5786

	
	
	48
	64
	1
	1
	-37.6348
	92.1988
	-34.998
	95.043
	-42.7897
	101.508

	60
	2
	24
	64
	4
	1
	-47.1933
	95.0664
	-45.0751
	93.7813
	-48.8054
	97.5841

	
	4
	24
	64
	4
	1
	-47.1933
	95.0664
	-45.0751
	93.7813
	-48.8054
	97.5841

	
	40
	24
	64
	4
	1
	-47.1933
	95.0664
	-45.0751
	93.7813
	-48.8054
	97.5841

	
	
	64
	32
	1
	1
	-47.6993
	93.3637
	-45.2851
	97.0709
	-48.9043
	94.3873

	
	
	132
	16
	1
	1
	-49.5247
	93.5688
	-45.2668
	94.6595
	-48.3772
	95.1664

	120
	2
	32
	32
	4
	1
	-49.8615
	93.143
	-49.6617
	87.4133
	-48.0351
	90.743

	
	
	64
	16
	1
	1
	-49.0847
	90.9395
	-51.349
	87.8262
	-52.6663
	90.4685

	
	4
	32
	32
	4
	1
	-49.8615
	93.143
	-49.6617
	87.4133
	-48.0351
	90.743

	
	
	64
	16
	1
	1
	-49.0847
	90.9395
	-51.349
	87.8262
	-52.6663
	90.4546


Table 17: DL RSCP error for two-tap channel in degree for SCS = 15kHz. Es/Iot (cell-1, cell-2, cell-3) = (0, -6, -6) dB.

Discussion
From the simulation results reported above without RF/BB impairments, we observed:
· For the AWGN channel, for a given bandwidth, the DL RSCPD measurement accuracy does not significantly deviate for different carrier frequencies. Thus, the DL RSCPD accuracy dependency on the carrier frequency is not so significant.
· For the AWGN, the DL RSCPD measurement accuracy depends more on the cells with lower Es/Iot. For example, this effect can be noticed by comparing Table 2 with Table 4, where just the Es/Iot of cell 1 changes, and indeed the performance is very similar; meanwhile, by comparing Table 3 with Table 4 where the Es/Iot of cell 1 remains fixed and the Es/Iot of cell 2 and cell 3 changes, we notice that the performance difference is significant. Thus, the DL RSCPD accuracy mainly depends on the cells with lower Es/Iot.
Thus, following observations are made:
For the AWGN channel, the DL RSCPD accuracy dependency on carrier frequency is not so significant.
For the AWGN channel, the DL RSCPD accuracy mainly depends on the cells with lower Es/Iot.
Similar observations can be made for the two-tap channel, however we did not include them above, since the results were derived using 1 UE receive antenna (deviating from the simulation assumptions in [6] where 2 UE receive antennas are indicated).
Conclusion
In this contribution we have provided further simulation results for DL RSCPD error and first simulation results for DL RSCP, for both without RF/BB impairments, based on simulation assumptions in [5]. 
Following observations are made.
1.  For the AWGN channel, the DL RSCPD accuracy dependency on carrier frequency is not so significant.
 For the AWGN channel, the DL RSCPD accuracy mainly depends on the cells with lower Es/Io.
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